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Year 3 Autumn Maths Block Assessments:
Addition and Subtraction (A)
o Complete the bar models.
8
6
7
5
2 marks
° Find the missing numbers.
)
7 + =13
—
)
18 - =9
—
)
6 + +5=18
N~ 3 marks
a Balance the scales to find each missing number.
1MT+4 = 8+ D
== a ===
O
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4+5+10=[:j+6
3+8+[::]=9+7

o Add the numbers.

N
2+9+8=
\____/
N
b6+3+5=
\____/

4+7+6+3=[:]

° Add the numbers.

TN
53 +5=
\____/
TN
68 +7 =
\____/
TN
Q6 + 6 =

© Hamilton Trust

3 marks

3 marks

3 marks

ﬁ

\




ﬁ

\

° Subtract the numbers.

SR
79 - 6=
—
)
42 - 4=
—
SR
103 -5=
—

Use Maths Frog to help answer these subtractions
(draw empty number lines to help).

7

~~—

40 - 27 = D
53-39= D
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4 marks

Find the change from £1 for each of these items, using
Maths Frog to help you count up.

Rubber

4 marks
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o Add each pair of numbers using partitioning.

)
23 + 14=
—
)
56 + 22 =
N/
)
37 + 25 =
— 3 marks

m Use partitioning to find the total cost of.

an apple and a banana @
an orange and the cherries @
2 marks

Total / 30 = [ ]
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